

$$f(n) = \left| \left\{ (x_1, \dots, x_k) : 0 \leq x_i \leq b, \sum_{i=1}^k x_i = n \right\} \right|$$

k. 1

$$\sum_{n=0}^{\infty} f(n) t^n = (1+t+\dots+t^b)^k = \left(\frac{1-t^{b+1}}{1-t} \right)^k$$

$$\sum_{n=0}^{\infty} f(n) t^n = \frac{(1-t^{b+1})^k}{(1-t)^k} = \sum_{i=0}^{\infty} \binom{i+k-1}{k-1} t^i \sum_{j=0}^k (-1)^j \binom{k}{j} t^{(b+1)j} =$$

$$= \sum_{n=0}^{\infty} \left[\sum_{\substack{(i,j) \\ i+j(b+1)=n}} (-1)^j \binom{k}{j} \binom{i+k-1}{k-1} \right] t^n =$$

$$= \sum_{n=0}^{\infty} \left[\sum_{j=0}^k (-1)^j \binom{k}{j} \binom{n-j(b+1)+k-1}{k-1} \right] t^n$$

$$f(n) = \sum_{j=0}^k (-1)^j \binom{k}{j} \binom{n-j(b+1)+k-1}{k-1} \quad \text{p.f.}$$

הוכחה: נגדוק את המספר של פתרונות המערכת

$$A_i = \left\{ (x_1, \dots, x_k) : \sum_{j=1}^k x_j = n, x_i \geq b+1 \right\}$$

$$\left| \bigcup_{i=1}^k A_i \right| = \sum_{j=1}^k (-1)^{j+1} \sum_{1 \leq i_1 < \dots < i_j \leq k} |A_{i_1} \cap \dots \cap A_{i_j}| =$$

$$= \sum_{j=1}^k (-1)^{j+1} \binom{k}{j} \binom{n-j(b+1)+k-1}{k-1}$$

p.f.

$$f(n) = \binom{n+k-1}{k-1} - \left| \bigcup_{i=1}^k A_i \right| = \sum_{j=0}^k (-1)^j \binom{k}{j} \binom{n-j(b+1)+k-1}{k-1}$$

$R(1,1) = R(1,1) = 2^{1+1}$... $k+l$... $2 \Leftarrow 10 \cdot 4$

$$R(k,l) \leq R(k-1,l) + R(k,l-1) \leq 2^{k-1+l} + 2^{k+l-1} = 2^{k+l}$$

$n = R(k+1, k+1)$, $N = R(k+1, k+1) - 1$... 10^1 ... 10

$\varphi: E(k_n) \rightarrow \{1, 2\}$... 10^3 ... 10^3

$$\varphi(i, j) = \begin{cases} 1 & |j-i| \in A_1 \\ 2 & |j-i| \in A_2 \end{cases}$$

... k_{k+1} ... n ...

... $j_t - j_s \in A_i$... $j_1 < \dots < j_{k+1}$

... $x_s = j_{s+1} - j_s$... $1 \leq s < t \leq k+1$

... $x_1 + \dots + x_k = j_{k+1} - j_1 \in A_i$... $x_1, \dots, x_k \in A_i$

$(\# \dots) = (v, e, f)$... 10^1 ... 5

$v = 24 \Leftarrow 3v = 2e = 2 \cdot 36 = 72$... 10^1

$2 = v - e + f = 24 - 36 + f$... 10^1

$f = 14$... 10^1

$f_4 + f_6 = 14$... 10^1

$f_6 = 8 \Leftarrow \begin{cases} f_4 + f_6 = 14 \\ 4 \cdot f_4 + 6 \cdot f_6 = 2e = 72 \end{cases}$... 10^1